

$$\begin{aligned} \alpha &= \frac{\alpha}{\gamma} \\ \gamma \alpha^2 &= \frac{\gamma}{\gamma} \end{aligned} \quad \left. \begin{aligned} \alpha &= \frac{\gamma}{\gamma} \Rightarrow \alpha_1 = 1 \\ \alpha &= \pm \frac{\gamma}{\gamma} \Rightarrow \alpha_2 = -1 \end{aligned} \right\} \Rightarrow \alpha_1 - \alpha_2 = 2 \quad \checkmark$$

$$\sqrt{\frac{1}{\alpha}} + \sqrt{\frac{1}{\beta}} = \Delta \quad \alpha\beta = \frac{1}{\Delta^2}$$

(۲)

-۲

$$\frac{1}{\alpha} + \frac{1}{\beta} + \frac{\gamma}{\sqrt{\alpha\beta}} = \gamma\Delta$$

$$-\alpha^2 + c\alpha + \gamma = 0 \quad S = -\gamma \quad \checkmark$$

$$\frac{\alpha+\beta}{\alpha\beta} + \frac{\gamma}{\sqrt{\alpha\beta}} = \gamma\Delta \quad \gamma(\alpha+\beta) + \gamma = \gamma\Delta \quad \gamma\left(\frac{\gamma+1}{\gamma}\right) = 1c \quad m = -1$$

$$\gamma x^2 + \kappa x^2 - 9x - \gamma = \gamma(x-\alpha)(x-\beta)(x-\delta)$$

$$-\frac{\gamma}{\gamma} \alpha\beta\delta = -\gamma \quad \delta = -\frac{\gamma}{\alpha} = -\frac{1}{\gamma}$$

$$\kappa = \gamma(-\alpha\beta - \delta)$$

$$\kappa = -c \quad \checkmark$$

(۲)

-۳

$$\frac{\Delta}{\gamma}(\alpha^2 + \beta^2) + \frac{1}{\gamma}(\alpha^2 - \beta^2) = 12\sqrt{\gamma} + 11\Delta \quad S = a$$

$$\frac{\Delta}{\gamma}(\gamma^2 - 2a) + \frac{1}{\gamma}(\alpha - \beta)(-\gamma) = 12\sqrt{\gamma} + 11\Delta$$

$$|\alpha - \beta| = \frac{\sqrt{c\gamma - 4a}}{1}$$

$$\alpha - \beta = -\sqrt{c\gamma - 4a}$$

$$9_0 - \Delta a + \gamma\sqrt{c\gamma - 4a} = 12\sqrt{\gamma} + 11\Delta$$

$$a \in \mathbb{Q} \Rightarrow 9_0 - \Delta a = 11\Delta \Rightarrow \boxed{a=1} \quad \checkmark$$

$$c\gamma - 4a = c\gamma \Rightarrow a=1$$

$$\pm \gamma - \sqrt{c\gamma - 4a} = 0 \quad x^2 < \frac{\gamma + \sqrt{49}}{\gamma} \quad \frac{\gamma - \sqrt{49}}{\gamma}$$

$$S = 0 \quad P = \frac{-\gamma - \sqrt{49}}{\gamma}$$

$$\gamma p^2 - \gamma S p + \gamma S = \gamma \left(\frac{\gamma + \sqrt{49} + 1\sqrt{49}}{\gamma} \right) + 0 + 0 = 12\sqrt{\gamma} + 11\Delta \quad \checkmark$$

$$\alpha + \beta = \frac{a}{\gamma a} = -\frac{1}{\gamma}$$

$$\alpha + \frac{1}{\gamma} + \beta + \frac{1}{\gamma} = \frac{1}{\gamma} = \frac{a}{\gamma} \Rightarrow a = 1$$

$$\alpha\beta = \frac{-\gamma}{\gamma} = -1$$

$$\left(\alpha + \frac{1}{\gamma}\right)\left(\beta + \frac{1}{\gamma}\right) = \alpha\beta + \frac{1}{\gamma}(\alpha + \beta) + \frac{1}{\gamma^2} = -1 + \frac{1}{\gamma} \times \left(-\frac{1}{\gamma}\right) + \frac{1}{\gamma^2} = -1 = \frac{b}{\gamma} \Rightarrow b = -\gamma$$

$$\left[-\frac{\gamma}{\gamma}\right] = -1 \quad \checkmark$$

$$\alpha + \beta = \frac{a}{a} = 1$$

$$\alpha = 1 - \beta$$

$$|\alpha - \beta| = \frac{\gamma}{\sqrt{a}} = \frac{\gamma\sqrt{a}}{a} \quad \checkmark$$

$$\gamma\beta^2 + (1-\beta)^2 - \beta = \frac{11}{\gamma}$$

$$c\beta^2 - c\beta + \frac{c}{\gamma} = 0$$

$$\beta^2 - \beta + \frac{1}{\gamma} = 0 \quad \beta = \frac{1 \pm \sqrt{1 - \frac{4}{\gamma}}}{2} < \frac{1}{\gamma} + \frac{1}{\gamma} \quad \alpha = \frac{1}{\gamma} - \frac{1}{\gamma}$$

$$\frac{1}{\gamma} - \frac{1}{\gamma} \quad \alpha = \frac{1}{\gamma} + \frac{1}{\gamma}$$

-۴

-۵

-۶

-۷

-۸

-۹

-۱۰

-۱۱

-۱۲

-۱۳

$$\alpha(\alpha+r) = a$$

$$\alpha + \alpha + r = a+1$$

$$\alpha^r + r\alpha - r\alpha = 1$$

$$\alpha \leq -1.536$$

$$\beta + \beta + r = 10$$

$$\beta = r \quad \left. \begin{array}{l} \beta + r = 10 \\ \beta + r = 10 \end{array} \right\} r \times r = r^2 \quad \checkmark$$

$$r^2 - 2 = r^2 \quad \checkmark$$

$$\alpha = 1 \Rightarrow a = r$$

$$\alpha + r = r \Rightarrow \alpha = 1 = r \quad \checkmark$$

$$\alpha^r + \beta^r = (\alpha + \beta)^r - r\alpha\beta = (-1)^r + r + r^2 = r^2 + r \geq r^2 \quad \checkmark$$

$$x_{\text{ext}} = \frac{-a + e}{r} = -1$$

$$y_{\text{ext}} = 1$$

$$y = a(x+1)^r + 1$$

$$y = ax^r + rax + a+1$$

$$\alpha^r + \beta^r = a$$

$$\left(-\frac{ra}{a}\right)^r - r \times \left(\frac{a+1}{a}\right) = a$$

$$r - r - \frac{r}{a} = a$$

$$-\frac{r}{a} = r \quad a = -\frac{r}{r} \Rightarrow y = -\frac{r}{r}x^r - \frac{r}{r}x + \frac{1}{r}$$

$$x=0 \Rightarrow y = \frac{1}{r} \quad \checkmark$$

(r) - 1

(r) - 1

-10

(r)